Viernes, 22 de mayo
Péag. 98, 2
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+1=
2 X+ 1 X+ 1
min.cmdx’ + 1}=x> +1

1-5+1- (P +1)_1-10

X +1 XX +1
a=1
S+x*+1=10;, xX*+6=10;, x*+6-10=0; x*—4=0b=0
c=—4
x—i—Z
x_—Oi\/02—4-]-(—4)_J_r_4_ ="
2-1 2 xZ:—_4:_2
2
Comprobar,
;=2 - 25 +1= 2]0 ; 2=2 ST
2°+1 2°+1
X, =2 — ;+I:L' 2=2 Si

(-2 +1 (-2V +1°

Soluciones: x,=2 y x,=-2
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—-1=x

e)

x—3
5—1'(x—3):x'(x—3); 5—x+3=x"-3x; 8—x=x"-3x
x—3 x—3
a=1
X =3x=8+x=0; x*-2x-8=0{b=-2
c=-8
x_—@Q)iJ@QY—4.L@@)_216__ Ty T
2.1 2 2-6
X, ="——=-2
2
Comprobacion,
x=4 — —i——1=4 4=4 Si
4-3
5 .
x=—2 - —1==-2; =2==-2 Si
Soluciones: x,=4 y x,=-2
- 7,9 (x+”@—2t4x_a
x+2 x—2 (x+2)
mincem{x+2,x-2}=(x+2)(x-2) W:(x+2)
o
7(c=2)+2(x+2)(x-2) _ 9(x+2) C 7xm 144 2( —4)=9x+18
(x+2)(x—2) (x+2)(x—2)
7x—14+2x"—8=9x+18; 2x’+7x-22=9x+18; 2x +7x-22-9x-18=0
2+18
a=2 X, = =5
(=N + S (=V —4.D.(— 1
e e d0—0)pe s e (=2)%+/(=2)° — 4 2-(—40) _2%18 _ 4
2.2 4 2-18
c=-40 xZ:T:_4

Comprobacion :

542 5-2
x=—4; 7 A i : -3_-3 Si
—4+2 —4-2" 2 2

Soluciones: x,=5 'y x,=—4

14



Ecuaciones con raices cuadradas.

2x -1
* o 2x -1
NX+5+1=2x oy 4]
4x° —2x
4x’ —4x +1
X' +5=2x-1 (VX2+5)2=(2x—])2; X 45=4x" —4x+1, 4x* —4x+1-x"-5=0
4+8
a=3 =38,
— ()t AJ(—4) —4-3-(—4 + 1
3x2—4x—4:0; b=—4 x= ) \/( ) ( ):4—8: 6
2:3 6 4-8 -2
c= LT T

Comprobacion :

x=2; AX*+5+1=2x



